br4% K22 101 S F AR ATAE L HEAE 4 X
EFIAEARE L |
% =

F T fe B8 KA

(B EEE) (RAAZAKES) CTST 4 A VIR T A o Ak
| : | SR

1. 3 2x" +3ydy +Gx+y—Ddy =0 (10%)
dy
dx
3. bR+ 3y +2y=sin(2x) (10%)
4. B G (10%)
s 42545
5. FFHRSE R R YT TR
(@) y'+y' =2y=0;y(0)=4, y(0)=1 {8%)
(b) y'=5y"+6y=¢";y(0)=0, y'(0)=2 (7%)
6. ARG 27 BVEWIEL, BRSO =x+7, H-m<x<r. GOREMTEEN
$1. (15%)
7. EUR T FI SR BLEC B A (10%)

1-x%, |x|<l
fx)y=

2. - =8x"y" (10%)

5

0, x| > 1
8 gﬁﬁjﬁ%:k%—i{. O<x<f, 0<r  (20%)
X

ERRA R u(0,0)=0; u(f,0)=0
FHaENE B u(x,0) = f(x)




